BT LYE (i L~y — TR LR )

BB - TAE- i T4 7L

LV1

LV2

LV3 | LV4 LV5

£

HLAT

i3

Ml

PHE% -

e

T No.59

EE

+T

#a No.61

PEH] T

IER 1.=44.45m

HEHICERD)

M+

BH

446

m3

fRHICE )

T

G 1)

VA EL S

L=10m

RN ES

A T

m3

5.1

* 1.000

L A

F AR IR GRS

H B HE

L=28m

A T

441

m3

441.3 * 1.000

AR+ T

BRI T

FEAE IR

2. 5m AT

A T

m3

4.6

* 1.000




) B R AR
R b=
wWEt | L BEL | ABER | HCETA | WS 1B | oA T R R T Tl 7 FHE
(m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3) (m3)
9t +& 446.4 446.4
WD+ & 446.4 446.4
B i
RO L&
+& 446.4 446.4
; WD+ & 446.4 446.4 a
=R (R %) 1.000 1.000
T EZEE 0.90 0.90 0.90 1.00 1.00 1.15 1.20 1.25 1.40 1.40 b
FRHLREE il [ 8D 1 D - i 401.8 401.8 | c=axb
JrE Bk 0.90 = 4018/ 4464 d=c/a

P R ER(0.90) 2RI EREFH AR OME D RO L RERHLET

M OO b8 = B/ S s AR (0.90)




IR

BE T+ ZR ] |
B Gt
A PEAE | BT RT | RRT | NER | RG] el | WA | WTRT | ARRT | NG| RIE | i | WA [ iR | ORRT | NER | R i | DA | TERT | AORT | EE | R | i | R | IRRT | (AT
(m) (m2) (m3) (m3) (m3) (m2) | (m3) | (m3) m3) | (m2) | (m3) | (m3) m3) | (m2) | (m3) | (m3) m3) | m3) | (m3)
No.59 17.1
+9.84 8.35 | 14.5 | 131.9
No.60 | 11.38 [ 10.7 | 143.4 | 275.3 275.3 275.3
+4.25 4.25 | 10.0 | 44.0
+13.74 | 9.49 | 5.1 71.6
No.61 9.49| 6.6 555 171.1 171.1 171.1
OFk | 42.96 446.4 | 446.4 446.4 446.4




RE L HRE R

FER BEIR FER PR | % - | R O % 0 L
4mPl k 2.5m~4m |2.5mAIi No.5t [#&+ 15 /0.90
W B[ OTARE | ORRE | TR | AR | WTIRVR | PRE | DOTRORE | ORRE | IREE | (AORE (51
(m) (m2) | m3)| (m2) | m3)| (M2 | (m3)| (m2) | (m3)]| (m3) (m3) (m3)
No.59
+9.84 | 9.84
No.60 | 11.38
+4.25 | 4.25
+13.74 | 6.66 0.6 | 2.0
No.61 | 8.64 0.0 2.6 4.6 5.1
&F 40.77 4.6 4.6 5.1




REEFA

SER L A Ed 2 K B
EAEN 501 R AR+ EEEST ae
Bt Vg | A%t | 20m | 40m | 60m PR | Rt
WA | BREE | SZRT) SZRT | WORREL | BB SEET | SERT ) SZRE | SZAR ) GRMGHE | STRT | STRDRREE | sRTENE | SR VA
(m) | (m3)| (m3) (m3) (m3) (m3) | (m3) | (m3) | (m3) (m3) (m3) (m3)
No.60 | 21.22 275.3 275.3 275.3
No.61 | 23.23 | 5.1  171.1 5.1 1 166.0 166.0
Bt 44.45 | 5.1 | 446.4 5.1 | 441.3 441.3




PR ALERE A (BUGPALER)

SER L A Ed 2 E K B
FE I3 28 TR [ EEESE Y
7R Wiz | i+ | 20m | 40m | 60m kLt | REL
WA | FREE | ASCAR | SERR | MR L LR | SEERT | SZART | SRR | SZRE | GRMEHE | SIRT | STRDREE WOTENE | SERT | ST
(m) (m3) (m3) (m3) (m3) (m3) | (m3) | (m3) | (m3) (m3) (m3) (m3)
No.60 | 21.22 275.3 275.3 275.3
No.61 | 23.23 166.0 166.0 166.0
BEF | 44.45 441.3 441.3 441.3




R AL PR (R M LER)

By B B fE R+ G R B B B 1 (1)
iR R SRR (3:;; SRR R AR R S sl SEAE R
(m) (m3) (m3) (m3) (m) (m3) (m)
No.60 21.22 275.3 441.3 275.3 20.0 5506.0
No.61 23.23 166.0 166.0 40.0 6640.0
a8 44.45 441.3 441.3 441.3 [=28m 12146.0




B h

co Rt 4% 2 e S

£ i TR i & K« ¥ &
e P L) m m2
& +PTCH) 15.23 m 15.23 m2
il TP T(EED 15.23 m2
=
=
1
£ i R HEE N &=
e TR T (Wf0) 52.45 m 202.63 — 0.81 = 201.82 m2
&
g M T.(a 27 —h) m m2
K| B T(mr 7y — M)A m 0.00 X 0.15 = m2
2 ¥ T.(H #iAs) m 0.00 X 0.15 = m2
£ i TR i & ¥ &
[5:45 66.72 m 630 m2




¥BEHEE 1)

!

B P T(E) P TCH) Tl R A () Tl A T(OR)
HEE R mME | BB O BE mM HEE R mME | BB O BE mM

No.59

+9.84

No.60

+4.25 0.0

+13.74 6.70 2.0 6.70

No.61 8.53 0.0 8.53

it 15.23 15.23




BEFHEER Q) P. 1
", B T.(Wet) AL I HEK THIBRSY B L(= 27U —h) BT HIBR 2> B il (=2 70— )R 1 T.(H H#t4)
HRE e mfe | EEE e mie | EEE e miE | EEE e miE | ER I
No.59 4.75
+9.84 9.84 4.75 46.74
7.63  3.08  29.87
0.37  3.03 1.13
No.60 338 335 10.78
+4.25 4.25  3.75  15.09
+13.74 9.49  3.75  35.59
No.61 9.49  3.75  35.59 3.86
519 3.26  18.19| 0.21  3.86 0.81
2.81  3.61 9.65
ok | 52.45 202.63 ] 0.21 0.81




REFHERE (3)

!

AR 1%%
R & A%

No.59 11
+9.84 9.84 10 103.32
No.60 | 11.38 9  108.11
+4.25 4.25 9  38.25
+13.74 9.49 10 90.16
No.61 9.49 8  85.41
No.62 | 13.19 10 118.71
+9.08 9.08 9  86.26

ik | 66.72 630.22




% M E G R OK
4 Bk JEARHE E ) 2N Bo& | B
Y VIR | U No.6 11}t 5.0 m
i 5 B i AZAT, 2008 1A ] 1 & AT
i 5 B i AZAT , 3005 IAAE A & AT
AR B T HE K 2 ek
i 5 B i AZAT, 2008 1A ] At 1 & AT
i 5 B i AZAT , 3005 IAAE a8 1 & AT




5 B R R OR (EERETEMALE )

TR STE it H = o= | B 7
FIEDEES v e
1,890 i JUB R g 41.70 t

630.22 m 41.7+1,890 X630.22=15.71 13.9 t




